
SECTION A-A

SCALE 1 / 3

A

A

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 1 

DRAWN

CHECKED

QA

MFG

APPROVED

EAS

EAS

EAS

EAS

5/3/2018

5/3/2018

5/3/2018

5/3/2018

DWG NO

3547

TITLE

3001-00 Customer Print

SIZE

C

SCALE

REV

6

TOLERANCE:            .0 = +/- .030

                               .00 = +/- .015

                              .000 = +/- .005      

Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801

NOTE: All materials used in the construction of Oberon 

products must be RoHS compliant. Contact Oberon 

engineering if RoHS compliant materials are not available.

2
1
.
9
5
 
[
5
5
8
]

10.45 [265]

Includes:

(1) ABS White cover with Hinge
(1) Set of top wall bracket and bottom wall bracket
(1) ABS Mounting Panel
(2) #10-32 x 5/16 in. Shoulder screw
(3) #1/4-20 x ¾ in. Flanged hex head bolt
(4) #10-32 x ¼ in. Screw
(4) #10-32 x ½ in. Screw
(4) ¾” OD x ¼” Long Spacer

Wall Fastening Bracket

1
1
.
0
0
 
[
2
7
9
]

Hinge

ABS Mounting Plate

14.25 [362]

2
1
.
9
5
 
[
5
5
8
]

Wall Mount Keyhole Slots


